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Five boys are riding bikes at the park. Follow the clues to figure out their pets.

Bike: black, blue, green, red, white Age: 7 years, 8 years, 9 years, 10 years, 11 years

Name: Benjamin, Gabriel, Lucas, Matthew, Peter Animal: bird, cat, dog, fish, turtle

Sign: Capricorn, Gemini, Leo, Scorpio, Taurus Juice: apple, cranberry, grapefruit, orange, pineapple
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Lucas is somewhere to the right of the boy riding the
Red bike.

Peter has a Fish.
At the first position is the Dog owner.

The boy riding the Green bike is somewhere between
the 9-year-old boy and the boy riding the White bike, in
that order.

The boy that likes the Grapefruit juice is somewhere to
the right of the boy riding the Green bike.

At the second position is the 10-year-old boy.

Lucas is next to the boy riding the Blue bike.

The oldest boy owns a Bird.

Matthew was born under the sign of Scorpio.

At the fifth position is the boy who likes Apple juice.

The youngest boy is somewhere between the boy that
owns a Dog and the 8-year-old boy, in that order.
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At the fifth position is the boy that owns a Reptile.
At one of the ends is the boy riding the Black bike.

The 1l-year-old boy is next to the boy who likes
Grapefruit juice.

At the second position is the boy that likes Orange juice.
The Dog's owner is riding the Red bike.

The Leo is next to the boy who likes Pineapple juice.
The Capricorn is at one of the ends.

Gabriel is 10 years old.

Peter is somewhere to the right of the boy riding the
Green bike.

The Taurus is exactly to the left of the boy who likes
Pineapple juice.

The boy riding the Green bike is somewhere between
the Gemini and the boy riding the Blue bike, in that
order.
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Lucas is somewhere to the right of the boy riding the
Red bike.

At the fifth position is the boy that owns a Reptile.

At one of the ends is the boy riding the Black bike.
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At the first position is the Dog owner.

The boy riding the Green bike is somewhere between
the 9-year-old boy and the boy riding the White bike, in
that order.

The boy that likes the Grapefruit juice is somewhere to
the right of the boy riding the Green bike.

At the second position is the 10-year-old boy.

Lucas is next to the boy riding the Blue bike.

The oldest boy owns a Bird.

Matthew was born under the sign of Scorpio.

At the fifth position is the boy who likes Apple juice.

The youngest boy is somewhere between the boy that
owns a Dog and the 8-year-old boy, in that order.

Grapefruit juice.

At the second position is the boy that likes Orange juice.
The Dog's owner is riding the Red bike.

The Leo is next to the boy who likes Pineapple juice.
The Capricorn is at one of the ends.

Gabriel is 10 years old.

Peter is somewhere to the right of the boy riding the
Green bike.

The Taurus is exactly to the left of the boy who likes
Pineapple juice.

The boy riding the Green bike is somewhere between
the Gemini and the boy riding the Blue bike, in that
order.
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